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1. i A1 AY Tl Gel TaTe T T Fefl .
(1) fag. =@t (2) fa.ar. Rraew
(3) =i TR (4) 3T AEH FIR
started an association by the name ‘Granthottejak Mandali’ at Nashik.
(1) V.D. Savarkar (2) V.V. Shirwadkar
(3) Justice Ranade (4) Anant Laxman Kanhere
2. 1885 ¥ 1915 a1 Hie3Td % gesan S e v ofteEe 9.
(1) Y ¥ WS (2) WS T A8
(3)  rar ish (4) Feirererr fga
During the period 1885 to 1915 was known as the uncoronated king of
Bombay.
(1) Jagannath Shankar Sheth (2) Bhau Daji Lad
(3) Dadabhai Naoroji (4) Pherozeshah Mehta

3. weliwth s s o e aremm afifs 3 anfis gurens s S g 2
9. AW SAEr JISs, TR TS SeEieh]
%. fage Tl R, ~mrgdi werda mfag TR
5. mide fage $2, Ta wee dscdiie

i 3@
(1) %ad 3, A E (2) wa A, & anfor &%
(3) wad ®, F AN S (4) HEq I T |

Who from the following have worked for religious and social reforms through
Prarthana Samaj ?

a. Dr. Atmaram Pandurang, Dr. R.G. Bhandarkar

b.  Vaman Abaji Modak, Narayan Ganesh Chandavarkar

c¢.  Vitthal Ramji Shinde, Justice Mahadev Govind Ranade
d. Govind Vitthal Kunte, Rao Saheb Mandlik

Answer options :

(1) Onlya,bandd (2) Onlya,bande
(3) Onlyb,candd (4) Onlyaandb

FTET BHTAIS! SFT / SPACE FOR ROUGH WORK P.T.O.
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4,  Grefiedsh Siow Sl 12 7, 1875 USH a1 IfEe IS her gl ?
1 g 2 o (3) ITEHEAW (4) TR
Where did the first revolt of farmers take place on 12t May, 1875 ?
(1) Pune (2) Supe (3) Ahmednagar (4) Solapur
5. Grefie e Yo
1857 =41 IgTaTH! e EC '
< ' I. 4w 6% sodad S8l
q. TR II. T99g 9eaH
%, Smfad III. SEERe wE
T HUOR IV. wEats Fidh
it I W
A q & -
1 I I 11
2 IV II III
3 Iv I I1 III
4 Iv I I11 II
Match the following :
Centres of the Revolt of 1857 Leaders
a. Peth I. Vaikappa Naik Balwant Behari
b. Nargund II. Ramchandra Patwardhan
¢. Jamkhandi III. Babasaheb Bhave
d. Shorapur IV. Bhagwantrao Koli
Answer options :
a b c d
n Iv II1 II I
(2) IV II III I
3 IV ' I1 II1
4 IV I11 II
6.  ITEdeAT WA AEV TRV STl qrmft o TR,
(1) e saer 2) e fooA
() faferm S (4) ¢ a=
The demand for freedom for the colonies was like asking for the moon, said
(1) Lord Dalhousie (2) Lord Ripon
(3) William Jones (4) Lord Morley

FoegT HHETATS! ST / SPACE FOR ROUGH WORK
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7. ¢ s wRikda Wraw ufgef fomms aEe q wdq erhelt Tief.
(1) hererar @ fegh (2) wgw 9 g
(3) herhaT A g (4) ARG o AT
The first telegraph line was laid from to during Lord
Dalhousie’s time.
(1) Calcutta to Delhi (2) Madras to Delhi
(3) Calcutta to Madras (4) Calcutta to Agra
8. 1875 HEX HIPTRT ThAd FEA Tl HIETR oA TG Foarard! Jedh Hordt sqamdt
e B ?
(1) R S dree (2) TRREW TE 96K
(3) MYt STt (4) WRESH MY
Who from the following was in the forefront to unite the workers to form their
association in 1875 ?
(1) Narayan Meghaji Lokhande (2) Narayan Rao Pawar
(3) Shapurji Bengali (4) Sorabji Shapurji
9.  Hud GrpR Wielladh S sreaaErel o9 TeaTH T Feft gt ?
(1) TR SHHIE (2) T SRS
(3) e waiftheed (4) TRAE T
Under whose chairmanship did the Bombay Government establish the Railway
Board ?
(1) Lieutenant Prescott (2) Lord Dalhousie
(3) Lord Elphinstone (4) Lieutenant Nelson
10. gt @d e
(1) oo gt — g 3T 3fsa = iR
(2) . o a3 — T g9 §fEad s
(3) WEET e — g e SR A g s
(4) W HiFw — g ofd $feW g HIFRE
Find out the wrong pair :
(1) Sarala Devi Chaudhurani —  The All India Women's Council
(2) Dr. Annie Besant —  The Women’s Indian Association
(3) Meherbai Tata —  The National Council of Women in India
(4) Margaret Cousins —  The All India Women’s Conference

FEEgT SHIATS! AT / SPACE FOR ROUGH WORK P.T.O.
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11, o 1820 A& Hioren TR et Yelieh et werwar A9 g Feft 2
(1) e i qETe D
(2) Tafen wfa a1 Qe
(3) dErd Bi Afeer fee e
(4) witew fmm
Which society started a school for Bengali girls in Calcutta in the year 1820 ?
(1) Calcutta Female ‘Juveni]e Society
(2} British Foreign School Society
(3) Society for Native Female Education
(4) Scottish Mission
12. B I ARl TEEl’ AR Sy .
(1) 9O 2) fg (3) TR (4) IS
was the centre of ‘Wahabi’ movement in North India.
(1) Patna (2) Delhi (3) Firozpur (4) Aligarh
13.

gmmwmmﬁmmmwmaﬁ
‘? -

9. HEuE dgie nee, Al f9gd aieaes
%, fawEa o, wwe R gareel
3. HENE I, gRTS FeRv

gt I ;
(1) %aa A, 9 2101 & (2) T A, H M
(3) S A MUT (4) ad = AT S

Who from the following persons helped Jyotiba Phule to run a Girls School in Pune ?
a Sakharam Yashwant Paranjpe, Sadashiv Govind Hate

b. Sadashivrao Ballal Govande, Moro Vitthal Walvekar

Vishnupant Thatte, Keshav Shivram Bhawalkar

d. Kashirao Deshmukh, Haribhau Chavan

o

Answer options :
(1) Onlya,bandc¢ (2) Onlya,candd
(3) Onlyaandb (4) Onlycandd

FeegT HTHTATS! ST / SPACE FOR ROUGH WORK
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14. GEA A a1

A, YUEH T FE{ I TS S o
w. faEw @l 1L Pt fvepa
%, T qu AR III. HRYE R
T o i V. o frrem
gt S
H q h -
1 I III v I1
2 1 I1 Il v
3 1II I v IT1
(4) IV II1 II I
Match the following :
a. Paramahansa Mata Prasamsha I.  Gujaba Joshi Punekar
b. Vichar Lahari II. Krushnashastri Chiplunkar
c. Follower of Sakta sect ITI. Morbhat Dandekar
d. Dadoba Pandurang IV. Dharma Vivechan
Answer options:
a b c d
1 1 It v T
(2) 1 I1 III v
3) 1II I v II1

4) IV II1 I1 I

15. 1 feash s tee= fvm o —me fasht mfisi=n JBdHe IgHTEA a5
EIC R
(1) R s (2) EEPR
(3) T faueft (4) vWd SISt
The day Lokmanya Tilak passed away, the same day Gandhiji’s ________ movement
was launched in Bombay.
(1) Civil Disobedience (2) Non-Cooperation
(3) Anti Liquor (4) Quit India

oeyT HHTETST AR / SPACE FOR ROUGH WORK P.T.0.
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16.

8 A
HIE ity aifepwae F=ardia ‘g aeft FIR — 1960° TOR Gieiiciishl HIvedT Tai=a et
HREATH U AUHR 1R ?
(1) fay, e a sem (2) e, fogm 7 gaow

(8) M, "o 9 fae (4) fomw, foam 9 3om

As per the Indus Water Treaty — 1960’ between India and Pakistan, on which rivers
water does India have absolute claim ?

(1) Indus, Chenab and Jhelum (2) Ravi, Beas and Sutlej
(3) Jhelum, Sutlej and Chenab (4) Chenab, Beas and Jhelum

117.

TR HIV g @i adion T AR ?

(1) #eme @) femrme

(3) waerge (4) et
Which of the following is the best quality iron ore ?

(1) Hematite (2) Limonite

(3) Magnetite (4) None of the above

18.

A Greliet fadian uffmsgd [Ews T 0 o :

(1) wfigs, fuftkenfiae, fdifas, sifsenfas

(2) wifvenfas, faferafas, amias, Fdfas

(3) fufrenfiys, Freifas, amfas, sifsenfias

(4) FiifEs, amfias, wfsenfas, fafesafas

Correctly arrange the following passes in India from west to east :
(1) Mana Pass, Shipkila Pass, Niti Pass, Zojila Pass

(2) Zojila Pass, Shipkila Pass, Mana Pass, Niti Pass

(3) Shipkila Pass, Niti Pass, Mana Pass, Zojila Pass

(4) Niti Pass, Mana Pass, Zojila Pass, Shipkila Pass

19.

WRE 30t AR 528 gE1 TEANgg] SleEdd. Qielladsh! A€s 1@ S ?

(1) SNada qal (2) = g

(3) wTvrHes Infly gErEETE yaEl (4) e A varel aufRd @

Saline and Alkaline soils are also known by another name. Which is the correct
option given below ?

(1) Desert soil (2) Chopan soil

(3) Wet and Marshy soils (4) Chestnut or grey brown soil

T FHETHIS! SRN / SPACE FOR ROUGH WORK
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20, u =w TEa &7 @reftadd o twanEft Fda e 2
(1) WENY — SxiETe
(2)  WERTE — W S
(8) wed WM — BRI
(4) TEWY — FAlCH
Which of the following States are associated with Pench Tiger Reserve ?
(1> Maharashtra — Chhattisgarh
(2) Maharashtra — Madhya Pradesh
(3) Madhya Pradesh — Chhattisgarh
(4) Maharashtra— Karnataka
21. 2001 =1 SHIRTER, WRAHI J7gRa STt Taifs aemaed Jedd 19,
(1) sifem (2) WERTY
(3) T=Ed™ (4) W= R
As per 2001 Census, the following State has the highest population of Scheduled
Tribes in India.
(1) Odisha (2) Maharashtra
(3) Rajasthan (4) Madhya Pradesh
22. U 2011 =T SFVHIER SR THIIER TR 1 fHeg wid 2

(1) ¥ ITFR, S, Yo W&, HieaTqL, g0
(2) TE W=, o IR, GO, HICE, I
(3) THad ITER, g VI, S, qO, Hrewrg
(4) o1, gar§ WE, HreAT, A, 9§ IEHR

As per 2011 Census, which are the first five districts according to population density
in Maharashtra ?

(1) Mumbai Suburb, Thane, Mumbai City, Kolhapur, Pune
(2) Mumbai City, Mumbai Suburb, Pune, Kolhapur, Thane
(3) Mumbai Suburb, Mumbai City, Thane, Pune, Kolhapur
(4) Thane, Mumbai City, Kolhapur, Pune, Mumbai Suburb

FeT HTHTHTS! IR / SPACE FOR ROUGH WORK - P.T.O.
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23.  SHUUFT 2001 ST 2011 wwTet wERTE T fom el Rt B o ?

(1) 09 (2) 90 3 19 (4) 29

What is the difference in sex ratio of Maharashtra State as per Census 2001 and

20117

(1) 09 (2) 90 3) 19 (4) 29
24. @eia foam uar

F.  HES W YN SESAT Yo Ad E.

q.  HES &Y gaNHIYS NS ).

F.  HUS UTE AR AT AFESTI AT Al

it I

(1) & faum &1 F0e a2 (2) R faum T sUeT e

(3) faum a1 onfor 7 st smAT (4) faum 9 anfor % s ama

Observe the following statements :

a. Maval section does not come in rain shadow area.

b. Maval area is known for its climate.

c.  Kasheli Ghat connects Poladpur and Mahabaleshwar.

Answer options :

(1) Only statement a is correct (2) Only statement b is correct

{(3) Statements a and b are correct (4) Statements b and ¢ are correct
25, GTHE1 IHSAT HENIETEAT FHIVIl FieEEa STeward ?

() ArTE (2) =ER (3) ifem (4) wsfreh

In which district of Maharashtra are the ‘Darekasa Hills’ located ?

(1) Nagpur (2) Chandrapur (3) Gondia (4) Gadchiroli
26. 2011 AT SFTUHAT STER Tefael Rregareh dipaedl gaar S R ?

(1) 1633t .fsH. (2) 193 =t.fw

(3) 74<1.fw (4) 93=nfedf

As per the Census 2011, what is the ‘Population density’ of Gadchiroli district ?
(1) 163 sq.km (2) 193 sq.km

(8) 174 sq.km (4) 93 sq.km

TET HFHTRIS! SR / SPACE FOR ROUGH WORK
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27. @ faye gar

FhThT HvmEr/a fawe /3 T R /T ?
(1) a3 foam s0a o1 (2) Wad 9T & faus FU= 3Rd
(3) e 31 a8 foum SOsK A (4) a0 ad fur s aEd

Observe the following statements :

a. Verul caves is in Aurangabad district.

b. Chambhar caves is in Pune district.

¢.  Chikhaldara hill station is in Raigad district.
d. Gautala National Park is in Jalgaon district.
Which of the above statements is/are correct ?

(1) Only a statement is correct (2) Onlyb and c statements are correct
(3) Only a and d statements are correct (4) All the above statements are correct

28, @T(vﬁaa\ww

w1 w9 11

(=itfeore farerhg) (Fregr/feeemor)
A, e I 9«3
|, g I, 37Rie
F. Wil III. @m
3. UH IV. ya&as
LR i

A q h 3
(1) III v I II
(2) III I II v
(3) III I v I1
4 II v I I
Match the following :

Column I ' Column II

(Thermal Power House) (District)
a. Chola I. Mumbai
b. Turbhe II. Akola
c. Fekari III. Thane
d. Paras IV. Bhusawal
Answer options:

a b c d
(L III v I II
(2) III I I1 v
(3) 1III I v II

4) II v I I
HTEd] HHETS! TR / SPACE FOR ROUGH WORK , P.T.O.
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29,

12 A
HETIETAT ST HIVET sh IS SI0HS SUe 3R ?

(1) SR, FHE IR, FAEHR, Addre
(2) AEINEE, JeHER, FHEE, TBaE
(3) UBHE, HHIEATER, AR, ATHE
(4) wBUR, NETER, AEEE, HUETE

Which of the following sequence of Ghats in Maharashtra from North to South is
correct ? '

(1) Thal Ghat, Kumbharli Ghat, Amba Ghat, Amboli Ghat
(2) Amboli Ghat, Amba Ghat, Kumbharli Ghat, Thal Ghat
(3) Thal Ghat, Kumbharli Ghat, Amboli Ghat, Amba Ghat

(4) Thal Ghat, Amba Ghat, Amboli Ghat, Kumbharli Ghat

30.

At — QUi e T Wefee v s e QR SR A ?
(1) from, x4, sz, qod, e
(2) wvrdht, 90§, SiE, S/, fren
(3) ud, s, firen, s, iz
) e, viww, from, g€, a9

In Tapi — Purna river basin, which of the following sequence of rivers from North to
South is correct ?

(1) Girna, Bori, Panzara, Burai, Gomati
(2) Gomati, Burai, Panzara, Bori, Girna
(3) Gomati, Burai, Girna, Bori, Panzara

(4) Gomati, Panzara, Girna, Burai, Bori

FoeT FHETEIST SIFN / SPACE FOR ROUGH WORK
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31. gREHHE 2 gata ST IcdTed 916 TR YHE IFUT dis .
(1) dqgs (2) =l (3) wehI (4) TE
has the major foodgrain crop production recorded as highest growth
after green revolution.
(1) Rice (2) Bajra {3) Maize {(4) Wheat
32. U undior IR g FEEr (NREGA) wed arfufafig wmn.
(1) =@t 2001 (2) IEERR 2002
(3) HW 2005 (4) ¥ 2011
The National Rural Employment Guarantee Act (NREGA) was enacted in
(1) October 2001 {2) October 2002
(3) September 2005 (4) September 2011
33, Welied R F3 o gshia Far gt ?
(1) ¥l & (2) WNR ot
(3) MR (4) fTaeft wea
Which of the following is rot an outstanding liability of Central Government ?
(1) Internal debt (2) Market loans
(3) Treasury bills (4) Foreign aid
84. e fam s TowrE FEEERt it sENUEE  Sewuel (FRBM) SRR

Which of the following has been suggested as a substitute for the Fiscal
Responsibility and Budget Management (FRBM) Act by the Fourteenth Finance
Commission ?

(1) Fiscal Consolidation Fund

(2) Fiscal Deficit

(3) Revenue and Debt Management

(4) Debt Ceiling and Fiscal Responsibility Legislation

T HHTHIS! IR / SPACE FOR ROUGH WORK P.T.O.
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85. WNd B I Ga@lq Hial IAEF < IR,
(1) am (2) (3) fade (4) wER
India is the world’s largest producer of .
(1) Jute (2) Steel (3) Cement (4) Sugar
36. 1950 — 51 3 2013 — 14 ¥ FIBE ARG @A UNYHE IdeAde feda & faam
__ ZEhal 9iee IR,
(1) 1667 26-2 (2) 3067 59-2
(8) 16-91 36-2 (4) 1567 362
The share of secondary sector in GDP in India from 1950 - 51 to 2013 — 14 has
increased by per cent.
(1) 16-6 to 26-2 (2) 30-6to59-2
3) 16:9to36-2 (4) 156 to 36:2
37. dgoe wfidfigER 2011-12 @9 YW@ Qfigy WaERiw dedes fest  TE
.
(1) 21-9% (2 27-5% 3) 372% (4) 42-9%
According to Tendulkar Committee, the total percentage of population in India below
the poverty line in 2011 - 12 was
(1) 21-9% (2) 27-5% 3) 372% (4) 42-9%
38. U HIHEEAT 9RO 2000 F ATeHITF (qrasaiad) e g g

A, R IR giauien ma gff S0 9 geng T9EA 3T gl uee w1,
q.  UET TOHH X BT 9! U IIaet AT T

F. Td g (STAS) QEEE qEHiw gu .

it I '

(1) SR A AT (2) I ® 8 ®H (4) %R A

The immediate objective of the National Population Policy 2000 was

a. to meet the needs of health infrastructure and to provide basic reproductive
health care.

b. to lower the total fertility rate to the replacement level.

¢.  to achieve universal immunization of children.

Answer options:
(1) Onlyaandb (2) Onlyec (3) Onlyb (4) Onlya

Foey] THTHIS! STRTT / SPACE FOR ROUGH WORK
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39, Weiodehl FIven Heweedl deaTal AHG favd SR g9 R 30gd ?
(1) Wew™ A=l (2) waka HFEE U
(3) TS IETOH . (4) Tl TRE e
The WTO agreements are based on which of the following important principle ?
(1) Non-discrimination (2) Most-favoured nation
(3) National treatment (4) None of the above
40. @reid faue faawm an
N, T F famm Fe € Srem YeEifie deHe Fed gE Hudr el
.  THEbed (THIfcih/TREd) weleH faem IuRn aiem geaniie A $eld g%
el e,
%, USHT TF GET ITRH &1 89 2009 — 10 WAl & HI0IT AT,
Fhth peci/el faumA g A 2
(1) ot faum < onga (2) wHH
(3) Wad &h (4) TFd A
Consider the following statements :
a. Rashtriya Krishi Vikas Yojana was launched during the 11*® Five Year Plan.
b.  The Mission for Integrated Development of Horticulture was launched during
the 12th Five Year Plan.
c.  National Food Security Mission was launched in 2009 — 10.
Which of the above statements is/are incorrect ?
(1) All the three are incorrect (2) Onlyb
(3) Onlyc (4) Onlya
41. T 2018 — 19 W&l warei e e g T waifus o,
(1) am e (2) TIN FHUS
(3) safrifyhr g (4) T afer gfie
occupied the first place in India’s export earnings in 2018 - 19,
(1) Jute garments (2) Readymade garments
(3) Engineering goods (4> Gems and Jewellery
42,

WreAt=hl Fivar © a i s s gt 2

(1) = (2) v fergdiata

(3) TTHtT Wy TesT (4) T T

Which one of the following is not a part of Bharat Nirman Programme ?
(1) Irrigation (2) Rural electrification

(3) Schools in rural areas (4) Rural roads

Freeq] PTHRIIST AR / SPACE FOR ROUGH WORK P.T.O.
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43, T d ww Ay & omea. A arey .
AN el =R T 1 arE wda 3 ferm
1, udw. 3 e FE v wamt
%. vdwm. e T waeit
T HIVATE @EI Hel ear J0m 1
gt W :
(1) waa A, & anfors (2) a3, 9 AU H
(3) w9, % WM E (4) g A, G AT S
The main features of Payment Banks are . Choose the correct sentences.
a. to accept deposits upto ¥ 1 lakh per individual
b.  to allow the use of ATM and debit cards
c¢. to allow the use of ATM
d. nottolend in any form
Answer options :
(1) Onlya,candd (2) Onlya,bandc
(3) Onlyb,candd (4) Onlya,bandd
44.  TTOSH FRE (2014) AR G 2011 - 12 @€, T T TED HOTEIE SIRERET ST § e
T ‘ Fieht Fafeea sFoam anreh.
(1) 32 afor 47 (2) 32 anfn 67
(3) 32 aivr 87 (4) 313 97
As per Rangarajan Committee (2014) defined poverty line for 2011 — 12 for rural and
urban areas per capitais ¥ .
(1) 32 and 47 (2) 32 and 67
(3) 32and 87 {(4) 31and97
45. HTEEGH EATE 2018 N WA daid Hind 1 ¢F% W U Iowdie fEe
THh AR,
(1) 41 (2) 35
3) 173 (4) 83

The Oxfam Report 2018, says that the richest 1 per cent of the people are generating
per cent share of National Income in India.

(1) 41 (2) 35
3) 73 (4) 83

TEEqT HHTHIST ST / SPACE FOR ROUGH WORK
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46. yefiae fafey ararh st fifvsa oA ot 9@ 9 ?
(1) TearhYi qga (2) W T 9gd
(3) THETR ga (4) ®e9gd
Which method is used to determine the distance of different stars from the Earth ?
(1) Gravitational method (2) Parallax method
(3) Parallel method (4) Direct method
47, deR e (ERm)FE_ 0 =X mifig oM.
1) we (2) Fars Thae
(3) 3 e (4) WRIECES Fhae
Working of a Solar cell is based on ' .
(1) Stark effect (2) Coulomb effect
(3) Zeeman effect (4) Photovoltaic effect
48. @ioTEhT wes e e it = SR wata st FHomy i s 2
(1) ¥R (2) wwar
(3) wwg (4) aTdehl AT
Who was the earliest to use algebra to solve astronomical problems ?
(1) Bhaskara (2) Brahmagupta
{3) Arybhata (4) None of the above
49. =T wu fesst wghEoma a7,
(1) Cu,Zn, Ag (2) Cu,Zn, Ni
(3) Cu,Ni, Ag (4) Cu, Zn, Al
The copper alloy German Silver contains .
(1) Cu,Zn, Ag (2) Cu,Zn,Ni
(3) Cu,Ni, Ag (4) Cu,Zn, Al
50, THEiTHERE g

3., fifvae ffifes = o,
7. fifva gdftvas fag s

%. et ons e,

vaiHt I

FOREE R R (2) & Mo & SR 3G
(3) ¥ anfor & st ITRT (4) o wd IO IR

A crystalline solid has
a. definite geometry.
b.  sharp melting point.

C. anisotropic property.

Answer options :

(1) aand bis correct (2) b and cis correct

(3) aandcis correct (4) All of the above are correct

FeedT BHTIS! AT / SPACE FOR ROUGH WORK P.T.O.
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51. &R IO, e TROfEer Yeigeie oA =T ATYR R,
(1) o o (2) M TEGAH
(3) SAUET FHHTH (4) T AHRAH
According to Moseley, the basis for the periodic arrangement of elements is
(1) Atomic weight (2) Atomic mass
(3) Atomic number (4) Atomic volume
52.  3MYf AsHgar SffEone o e Ereftermmr
A, MW, G, Hadia, shefien, Wil
T U, MR, B, @i, sifndi
F.  Wicw, vl @, 9eu, et
T U, G, T, W), St
Fheehl Hm T s AR ?
1) & (2) wETd (3) ®EFd H (4) HEA T
The five kingdoms under the recent scheme of classification are
a. Protista, Fungi, Mammalia, Annelida, Plantae
b. Monera, Protista, Fungi, Plantae, Animalia
¢.  Protista, Fungi, Plantae, Porifera, Animalia
d. Monera, Fungi, Mammalia, Plantae, Animalia
Which of the option given above is correct ?
(1) Onlyec (2) Onlyb (3) Onlya {4) Onlyd
53. n@rﬁmanm%ﬁaﬁamiﬁaﬁ?ﬂqaﬂ&mﬁwmﬁmmﬂm
, 71 faurdt wgrd fega 3.
(1) seTH (2) fedigmsa
(3) feflm (4) e
A toxic substance responsible for chills and high fever recurring every three to four
days in malaria fever is due to
(1) Interferon (2) Hemozoin
{3) Hirudin (4) Colostrum
54. “niped feqdtn faead” 81 IR T Geiicdshl Hiv e I gt ?
(1) JeEm (2) defisfram
(3) T=H : (4) vZEHH (IuaH)
The disease “African Sleeping Sickness” is caused by which of the following
parasite ?
(1) Trypanosoma (2) Paramoecium
(3) Mosquito (4) Tapeworm
55, darer sufor guitan guEy Gefteddl S TeE g ?
(1) Ko (2) dAEEE
(3) aifsetrend (4) FHETHEE
Algae and fungi are classified in which of the following groups ?
(1) Gymnosperms (2) Thallophytes
(3) Angiosperms (4) Bryophytes

FEEY] SIS ST / SPACE FOR ROUGH WORK
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56. Greliadd FHve WY ST THTdE gidagsd T8 Bl s1e! U g qEad ?
(1) Wi fedis 31 ddat (2) wEZH Fa
(3) TR AE FENR (4) TR
In which of the following disease of plants does chlorophyll of the leaves get
destroyed and the leaves shrink ?
(1) Mosaic disease of tobacco (2) Citrus canker
(3) Smut of jowar (4) Rhizoctonia
57. Erefiatsh FuR s Ta TERd 9et auy ?
1) = (2) Tl daret
(3) it 4) e aRa A
Which of the following biofertilizer is added in rice fields ?
(1) Red algae (2) Brown algae
(3) Rhizobium (4) Blue green algae
58. i) @eftedh 1 IO WA Niefashi-T Wielie ST,
. wiveEle e 19 s o
4. WIS T
F. TSI TR G A Wit Rk @t
qaiEt I ;
(1) %o 3 101 o (2) &, 9 AT &
(3) a3 AMTNT (4) wad § MM F
Mechanisms by which bacteria becomes resistant to antimicrobial agents are
a.  Alteration in surface receptors for drugs
b. MDR pump
c.  Secretion of inactivating enzymes
Answer Options :
(1) Onlyaandb (2) a,bandec
(3) Onlyaandc (4) Onlybandc
59. Eikdiied @ favam

(1) Wwﬁémﬁaﬂqmﬁmw
(2) Tauren R vewe geunT= e e
(3) wuthe fawr=an FftidAm sei= e g samT Seame

(4) b ad HRMS

Staphylococcal food poisoning is caused by

(1) ingestion of preformed enterotoxin

(2) colonisation of mucosal surface followed by production of toxin

(3) colonisation of wound or abscess followed by local toxin production
(4) All of the above reasons

FoeqT SRS AR / SPACE FOR ROUGH WORK P.T.O.
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(1)
(2)
(3)
(4)

20

60. UYIN TIHM B9 AT &g Y TT8.

ot wifdn Afswa waw, &t R
e 3gne Afgwd wiaw, T6 fog
Fae g B fedta Fm

National Salmonella Phage Typing Centre is at

(L)
(2)
(3)
(4)

Lady Hardinge Medical College, New Delhi
Maulana Azad Medical College, New Delhi
National Institute of Cholera and Enteric Disease, Kolkata

National Centre for Disease Control

61, WHIH-g wawr=al 9 vl aehEa WY fHag.

5 4 6 ?
2 6 4 ?
6 4 8 ?
3 5 4 ?
5 5 4 4
8 6 5 8
(1 o (2) " (&) p (4) s
6 8 4 6

Select the logical column of digits for replacing the column of question marks.

5 4 6 ?
2 6 4 ?
6 4 8 ?
3 5 4 ?
5 5 4 4
8 6 5 8
(L P (2) A (3 5 4) p
6 8 4 6
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62. YT AR fEmET STa TeEe ag7 e dewia BN wE 9 e st o ae @
wdte, st weeid a1 weewg W fae.
€ 9ER SER HiEcEcas GE-fashl =agn saH= @ [aeuERar=!

TSy frdma area .
(1) AT TV Hehrg (2) WicaelRgHt it It
(8) ATIMETE HIT TS (4) FHARL i 3Tt

Select the pair of words or word groups that fit in each of the sentences to make two
separate and having equivalent meaning in the given context.

The stock market having plunged drastically, the investor’s mood on the
trading floor seemed incongruous.

(1) enervated and funereal (2) inconsolable and sardonic

(3). sanguine and buoyant (4) enervated and sardonic

63, WE YER 1, 2, 3, 4, 5 N 6 WS e Wid=1 w4 . 3 € wem 1 e 6 =m
faeg gsiat A1t anift 4 & T 6 = faeg gyt A R 1 € gEn = yEE T o
efit T oA Reaen oot 6 TEm sTaeet Iahs U8 A=Al 2 §Edl JEoied JHIEN
YT SIFT S0 R IAST JHET HIvK §&T1 ITEHA ?

1

(1) 5

2 4

3 3

(4) FradmE st mifad=h ™= ams.

Study the accompanying cube with numbers 1, 2, 3, 4, 5 and 6 on its six faces.
Number 3 is not opposite to either 1 or 6 and number 6 is not opposite to 4. If this

cube is rotated so as to keep number 1 on the top and right side face with
number 6 takes the front place that has number 2 now, then which number will be

on the right face ?
1
9 6
() 5
(2) 4
3 3

{4) More information is needed for selection

THTEHT BETHIGT SIAT / SPACE FOR ROUGH WORK P.T.O.
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64, HET AT T e AR fresae.

(1 2 2 3 3) 4 4 5
Accompanying net is folded to get a cube.

Select the number of vertices of the cube at which two or more diagonal lines on the

faces meet.
(1) 2 2) 3 3 4 4y 5
65. s YHEslh HUTSHET gohST X |l T @ a10eA aaw sheiehl wel faen.
<
# 4’

(1) .’ @ A (3) . ) (4) D)
' AR +

Study accompanying transparent sheet of paper X and select the fold that is made
using it.

* 4/

(1) D @ £ (3) @) T
x &~ * o +

o] HTWIS! ST / SPACE FOR ROUGH WORK
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66. qUiam AE Aedieh S qENHET BV TagHTST SFTER I FBT TSI
e HagH TS vioal e 3t|d. K e woT 9 Uftelt Ot wagreTs] Hed gue el
MR I7H FEOET I AvEl, Aw e (3v) NEEvER s g, ST oo e

(1) Faers & w@ g dwa wee e 3w TR TR seet THRa She

3.

(2) Tragyda gage wUAREs) qe0 el GWIiaE ATeHieA AediF gEE e wnfid
Bvar=t s AR 3R,

(3) Tow P Tumige HEreTegR a1 GIETER AAEHTE 4t AT ST AU vl
3.

(4) <7 Ul HATAT qEVT ATHA oAl 9F B BT HAgH H{vATH] IETdT HUF R,

The decline in voter turnout at elections is chiefly explained by the decline in voting
by younger people who have very different lifestyles. Older people are much more
likely to vote. If this trend continues, probably this will lead to a point at which no
government can be said to have a mandate to govern as the number of voters will be
too small to indicate the wishes of the majority. Society needs, therefore, to find an

alternative to conventional elections so that the wishes of the people can be heard.

Select one option that best expresses the flaw in the above argument.

(1) Elections are used in all democratic countries as the only well established

process of choosing a government.

(2) With the help of social media, young people may be more likely to join pressure

groups than to vote in an election.

(3) There may be problems in using alternatives such as internet and postal voting

due to remote residential places.

(4) People who are young now may become more likely to vote as they get older.

Feeg] HTHTHTS! SR / SPACE FOR ROUGH WORK ' P.T.O.
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87. Wrelid w4 fedem wifgder smarfa =m2.

1. Coee dig Sudedn 9 =t A, B, C, D anfir E, o1ftt IS dis o6 Sased
g st M, N, O, P 3nft Q TeaUanR SiF §HTat TIAe) s8edT 124,

II. E & O = §61 =11g, S, M =1 I9diehe & 2.
11 C 3fiT N THEs qur HuRvd 71ed.

IV. B,S D =41 gEfi®e @[ a1e, Q =01 §6R 3w.
V. M ¥ WA Tl SH 8.

VI. P, Q<4 SERE @R 3R, D =1 §6ER 318,

GITBETE?JTGTTPIH'{*TW,EHQWWWWQEBWW-W,WOW
TS srafrear ereffhgd galt st ST a8 2

L Q 2) P
3) E 4) D

The following question is based on the information given below :

L A, B, C, D and E are five persons sitting in a line facing South — while M, N, O,
P and Q are five persons sitting in the second line parallel to the first line and
facing North, facing each other.

II. E is opposite to O who is just next, right of M.
III. C and N are diagonally opposite to each other.
IV. B who is just next to left of D, is opposite to Q.
V. Mis at one end of the line.

VI. P who is just to the left of Q, is opposite to D.

If B shifts to the place of E, E shifts to the place of Q and Q shifts to the place of B,
then who will be the second to the left of the person opposite to O ?

1 Q 2y P

3 E (4) D
FoedT HHETATS! TR / SPACE FOR ROUGH WORK
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68. WW@WWWWW#WRIWRHWM%.

Ry : T A g9 A WIS g @ (teleshopping) F@m.
A% :  RI— A HiS= THIG &N JTedm.
RII - Bl AT SO T3 @ie! wEe 90 e .

gt I
(1) HYaa SR waa RI SR RIL @
(2) vaf SR wa RID 3R RI &
(3) uwag SR Q-F 8T Bad RI fhar RII o
(4) @vEg FRO RI & 9@ e RIL & &
In the following guestion, an Assertion followed by two Reasons RI and RII is given.
Apply reasons to the Assertion and find the answer.
Assertion:  People, these days, are doing a lot of teleshopping.
Reasons : RI — People are watching TV a lot.
RII — People, these days, are not finding tim;e to shop in the market.

Answer options :

(1) Only RI not RII is a possible reason
(2) Only RII not RI is a possible reason
(3} Either RI or RII but not both reasons
(4) Neither RI nor RII is a possible reason

69.

THTE <A TR 61T 84 IJhe 8 for. . vam Fen. Jar < Ioreitene aeg 5 fadf.
AT Hell, Tt Yogl RS dad 4 6. vere e anftr S g@whe 3 fh . e e,
It At SETEHs g@en At 2 fR Al yem Fen. WA g wHET fhdl feeel siauat
I ?

(1) 14 (2) 12

3 10 4 7

Prashant starts from his house and travels 8 km towards North. Then he turns
right, travels 5 km, then turns right again and travels 4 km and then travels 3 km
towards East. Finally he turns left and travels 2 km. How far is he from his house,
in kilometers ?

(1) 14 2y 12

(3) 10 . 4y 7

SOET HHTATS! IR / SPACE FOR ROUGH WORK P.T.O.
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70. A, B, C3 D a1 4R @SuUid UgUI=T 6200 TR «areqT Afafyy teagwia ad&w . B
WAt 50% ST ATt 81 AT O 3. W I Wi fait deman d sifafsr o

R ?
A
D 20%
25%
B
C 23%
32%
AT 7 ey @e=na TEoR i
(1) 1240 (2) 527
(3) 713 (4) 1426

A survey is conducted on 6200 villagers staying in 4 villages A, B, C and D and
having various favourite colours. 50% of people from village B have red as their
favourite colour. How many people from other villages have the same favourite

colour ?
A
D 20%
Yellow 25%
15% B
C 23%
32%
Favourite colours People staying in various villages

(1) 1240 (2) 527

(3) 713 (4) 1426
ey FHTETS IR / SPACE FOR ROUGH WORK
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71. iﬁ;@srﬁ.mﬁaﬁwwﬂm'aﬁa 3Tt = Hiadt 7 .t T A0E. W TN S
?
(1) 616 <. . (2) 770 <. #. (3) 1386 . H. (4) 28 wH.
If the diameter of a circular track is 28 m and there is a 7 m wide road around the
track, then find the area of the road.
(1) 616sq.m (2) 770sq.m (3) 1386sq.m (4) 28sq.m
72.  Sardid qu FevaEd! 5 AIUAT 12 feaa .
A9 FH WOAES! 15 A0 et feam wmrdie 2
() 15 (2 4 (3) 12 (4) 16
Five workers take 12 days to weed a field. '
How many days would 15 workers take to do the same task ?
(1) 15 (2) 4 (3 12 (4) 16
73. i oyedtem AT SUEt 909 72 9N R 9 WA JEIgE oA a9 TR 4: 6 1 7 38
B, W e e a9 faRdt 2
(1) 20,30, 2298 (2) 22,24,26 98
(3) 19,2528 9% (4 17,25,30 9%
The sum of the present ages of 3 persons is 72 years. Seven years ago, their ages
were in the ratio 4 : 6 : 7. What are their present ages ?
(1) 20, 30, 22 years (2) 22, 24, 26 years
(3) 19, 25, 28 years {4) 17, 25, 30 years
74. @If¥F 6% T 10 afg=ren v fadaw T 26-25 g fiwd. | et wgw e foRdt 2
(1) ¥ 1575 (2) ¥ 500 (3) ¥ 65025 (4> < 551.25
The true discount on a bill due 10 months hence at 6% per annum is T 26-25. The
amount of the hill is
(1) < 1575 (2) ¥ 500 (3) ¥ 650-25 (4) T 55125
75. U defiq wh-wn, 50 3R @ 25 ¥ Arh 50 6 8 A ywonw Aoft anwd. e ww e

T 420 318d, T 50 Jwid fedt amoft s 2
(1) 210 (2) 126 (3) 252 4) 70

A bag contains one-rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 8. If the total
amount is ¥ 420, then the number of 50 paise coins is

(1) 210 (2) 126 (3) 252 4 170
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76, SRR JaUdR fRET BN W waifus wiomEds, swe dEm IR wEarn afee

AR ST MRA. i 328 feam siqteE = H. WU @ T Tewr o
Ueft, gedfiae IgM Fa 8.

(1) 10 %gar, 2019 (2) 14 wgart, 2019
(3) 14w, 2019 (4) 1794, 2019
American astronaut Christina Koch is the female astronaut spending longest period
in space. She spent 328 days in space. On , she took off from Earth.
(1) 10 February, 2019 (2) 14" February, 2019
(3) 14™ March, 2019 (4) 17" March, 2019

77. A& An 71 Sy GRET PN GEd JWEEhR it REnrsgrEr gfasden Seseaedt 9 gred
TGN TR TTEEH FTaiog THTd hisrea s gaa e avd ey Sach
MR, T AAdd I HeT 9 YN el 1 Wieel IVl g Taey a2
(1) semaEE - (2) wHefam S
(8) Forsmerh wggy (4) TIN FEEl
Guinness World Records has taken note of adventure swimmer Prabhat Koli who
has won the Central Government Tenzing Norgay National Award and Maharashtra
State prestigious Shiv Chhatrapati Bravery Award. So far he has crossed six seas.
Among the following, which one water body has he not crossed ?
(1) English Channel (2) Catalina Channel
(8) Strait of Gibraltar (4) Suez Canal

78, ‘T @ W WA Aeqdaea 72 Fufd, AR 130 FIA SiREEAT AqedT 39

He U &1 9gHH STH H/IST 38,
(1) 24 (2) 42
3y 12 4) 21

In the last 72 years after freedom, in our country of 130 crores population, only
persons have achieved the honour of ‘Param Vir Chakra’.

(1) 24 (2) 42
(3) 12 4) 21
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79. SAYSH YA FHAATd AR srai (giar) wata fas.
aw.mahﬁmmmﬁ%?;wumﬂaqﬂagmawéaﬂ%.
q, YN FIEURHEI IRATAT T 5 ARGIE Jehi ITER HIhd &AW Gt Fom ATe.
. A ISE] O 30 FIANET IR AR IREET iR AR,
. U1 JeRad 15 §9R Gorl a1 99 A fim o1 gl S8 el AR IR,

ot I ;
(1) S 49 (2) ®FHH
(3) wad A o1 % (4) wa A I B

Select the inappropriate (wrong) option regarding Ayushman Bharat scheme.

a. 10 crore Indian families will be benefited by this scheme.

b. Ayushman card holder family can avail medical treatment upto ¥ 5 lakh free of
cost.

¢. 30 crore Indian families will be benefited by this scheme.

d. 15 thousand Private Hospitals will get status of Jan Arogya Mitra by this scheme.

Answer options : :

(1) Onlyb (2) Onlyc
(3} Onlyaandc (4) Onlybandd
80. WIiEgd! AT AATTAT WIS AT AT A=A Fehoo T F o419 U @€Y o4wh HLOWT A
vty e
el war o
. gdtam. (UPD I AR FhW aeE-eH
q.  WIHMA. (AD II. fefes e sgawn
%, MFW. (GeM) 1. S&gameEl 9 e
s, HE.AMA. (1oT) IV. ©&RA AT 09
it I ;
ar T ® S
1 Iv I IT 111
(2) III v 1 11
3 I I v 111
4y II I v II1

Choose the proper option which explains the concept and its utilization in daily life
with advancement of Information Technology.

Concept Utilization
a. UPI L Artificial Knowledge Exchange
b. Al II. Digital payment system
c. GeM III.  Internet of things
d. IoT Iv. Online platform by the Government
Answer options:
a b c d
1 v I II III
(2) III v I II
3 I II v II1
4y 1I I v I11
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8l. fgdt Wl Tt Trew EheHEeHidie T, I 9 HiTHEAY FeT A % G SH

e IDRECAR

¥ 7 f3wmor R
A, 2016 — 30 L ERGE: I CIC Ty
¥ 2017 - IWHEERE II.  Y9Fg et
%, 2018 -HHsS 1. foedf fereier
s, 2019 — AT IV. TAGH TET0RR
agqidt I ;

H q ®
(1) III II v I
(2) I 111 I vV
3 IV I 111 II
4) 1 v 11 I1I

Choose the option which explains the correct order of place, year and Chairperson
regarding Akhil Bharatiya Marathi Natya Sammelan.

Year-Place Chairperson
a. 2016 — Thane I. Jayant Savarkar
b. 2017 — Osmanabad II. Premanand Gajvi
c. 2018 — Mulund ITI. Kirti Shiledar
d. 2019 — Nagpur IV. Gangaram Gawankar
Answer options :

a b c d
(1) III IT IV I
2 1 It I v
3 IV I II1 IT
4 I v II I1I

82. FHw veuu FRAW Sidwa JvEey gEHSTER ¥ 2018 — 19 =T g TRt Af® o §wew
T wed fafea onfhr gaifea twama amem ?

(1) 69414 %% (2) 164663 Afd%
(3 771215 9k= = (4) 708445 ufdw =

How many metric tonnes (MT) of e-waste was decomposed and recycled during the
year 2018 — 19 as per the Central Pollution Control Board’s information ?
(1) 69414 MT (2) 164663 MT
(3) 771215 MT (4) 708445 MT
FoeqT FHTAIS WA / SPACE FOR ROUGH WORK
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faremem werrie ‘wima Hifter’ vevm o g el ang 2

(1) Ssvad fem (2) T, ARR T

(8) W we (4) smEm. B

Who has been appointed as ‘Queen’s Counsel’ of Queen of Britain ?
(1) TUjjwal Nikam (2) L. Nageswara Rao
(3) Harish Salve (4) R.M. Shinde

T T Hie ughor feeewean Bfieer yram geft fdid @refiermmn se.

9. fefres WRFeAT aTRmY WERTg GHAT SHHHET

(1) %aa A, 9 M0 % (2) ®FIE, F AMIS

(3) Had ®, B MU A (4) %I g, A T

The following is a report on digital payment by The Era of Rising Fintech.
a. Karnataka ranks first in the use of digital payments.

b. Maharashtra ranks second in the use of digital payments.

¢. Bengaluru ranks first in digitised cities.

d. Hyderabad ranks second in digitised cities.

Which of the above sentences are correct ?

(1) Onlya,bandc (2) Onlyb,candd

{(3) Onlyc,danda (4) Onlyd,aandb

85.

I VYU TR GO Gidl SOEUEE! YR WA (FIENS R 1)
TEaTea Feed 3 11 (IMPRINT-II) TS99 %o HgHrll 8% sehard ?

H.  Gerll veEfeaeEe g

¥, .83, udi| e

.  IAE.IEA., .3 F., .39, 3. . aHfia aremues

3. RLAAA., T.AEA., AR, JE.A™. .31, anfi dgw JFerfdde

e
qﬂ‘f’d?:ﬁﬁ:

(1) % A i g (2) %3

(3) a3, 9 M 6 (4) wFEwAfE

Who can participate in the Government of India (MHRD) proposed IMPRINT-II
scheme to inculcate culture of innovation among higher education institutes ?

a. Professors in Private Colleges

b.  Professors in ITI

¢.  Professors in IIT, NIT, ITIT

d. Professors in IIT, NIT, IIIT, IISER and Central Universities

Answer options :

(1) Onlyaandb (2) Onlyd
(3) Onlya,bandc (4) Onlycandd
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32 A

I St 3 TEeg yeida et weda awfeeme @w feeen @, s
fareneaia W e var Ira v Wie[, fam 3 o fafirr gl ooy F&7 S
ThIA g Feft 3R,

(1) v STEn 3me TR ST

(2) VIR &, AR ATESH IR FSHT

(3) AR WIS TE TR FiHT

(4) iR B TR A9

For students belonging to the Scheduled Castes and Neo Buddhist class who did not
get admission in the Government hostels, to enable them to take post matric
education, the Government has started for their lodging, boarding and
educational facilities.

(1) Padmashree Baba Amte Swadhar Yojana

(2) Bharat Ratna Dr. Babasaheb Ambedkar Swadhar Yojana

(3) Karmaveer Bhaurao Patil Aadhar Yojana

(4) Savitribai Phule Aadhar Yojana

87.

SUbEd TRHEE! 103 T TeAGERIHA 2019 TEY AT TSAer=m & 15(6) At

16(6) HEY Y& ageral AuTay HU0TE 3. I gt e,

3. g A/ I FOR ATTEEiaTETd e Al SHiH T Uaddn T &
T AREAVITET @TH a1 Jé,

¥, 3 AETEEiEET 13% 9dd STREuTS YHIT TEiE.

F. AT IEUTET A R I ArepdfanEe ST @ g,

8. i amTEEiEET 10% gdd MRS YHT TEE.

Tt HIS I Sl IR ?

gt I :

(1) o & HIMT (2) a9, e
(3) hed 3, & HMT T (4) weq 9 M1 &

For economically backward classes, by the 103™ Constitutional Amendment in 2019,

Article 15(8) and 16(6) of the Indian Constitution, following provisions are made.

Choose the correct option.

a. This reservation can be availed by persons not benefiting by schemes for SC,
ST, OBC. ‘

b. The reservation proportion will be upto 13% for economically backward classes.

c.  This reservation is for education and job related benefits.

d. The reservation proportion will be upto 10% for economically backward classes.

Which of the above sentences are correct ?

Answer options :

(1) Onlycandd (2) a,b,candd

(3) Onlya,candd (4) Onlybandc
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g8,  ‘wdl Ty v g R . e AR 4 WO W e o SR e A
FUTHT T TR 2019 =1 B USRI T el oTe.

(1
(2)
(3)

(4)

wHiagd f&a1. RrarH
FHigad LU, T

e A ITETEe
HIEHR 9.9, WiH

Prof. Anil Gore, known as ‘Marathi Kaka’, was awarded State Government

(1)
(2)
(3)
(4)

award 2019 for popularising Marathi language.
Poet V.V, Shirwadkar
Poet B.R. Tambe
Poet Mangesh Padgaonkar

Novelist V.S. Khandekar

89. ¥ Toew REm WY (WR.EAT) A wwa wdE Ml g Pgw AR ORE
qed i S0 T 278 2

(1)
(2)
(3)
(4)

o @
forran 91t
Tifed AN
fafer et

Who is the first Indian to be appointed as General Vice President of International

Organisation Development Association (IODA) ?

(1)
(2)
(3)
(4)

Rajesh Reddy
Vinaya Shetty
Mohit Kumar

Nidhi Sharma
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90. ﬁwmmmasm)%ﬁm 2020 7Y HITt AFEET HfET HTUST TR
?

(1) TWHIH
(2) = fn
(3) TsFTE
(4) FsK

The Indian Space Research Organization (ISRO) will launch an unmanned
campaign in December 2020.

(1) Gaganyaan
(2) Vyom Mitra
(3) Robonaut

(4) Fedor

91. wrefta fRumiRh v fam T g 2
(1) wfeem av=ear 288 et 26 ST, 1950 sl Tsarere et wTEr= Sedl,
(2) ‘wEuH 9 ol Tgdl’ & T smferen TsaueaTed a1 IR,
(3) ‘dud=an A auTTETe G Yo € Houl HrAw Teaueng Uaet .
(4) Sltedhr uwdt ad
Which one of the following statements is correct ?

(1) On 26th January, 1950, 288 members of the Constituent Assembly signed the
Constitution.

(2) ‘Procedure established by Law’ was adopted from the Constitution of the
United Sates of America.

(8) The idea of ‘Joint sitting of two Houses of Parliament’ was taken from the
British Constitution.

(4) None of the above
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92. VTN Tsuge=al ‘GEren favdt el faur faamma = -

A, G | UsEEeAe 3 Sefua onftr sl wraas eme ft Sferd s war anfor
e W A9 Y G saea AEad, d¥ A9 ged=r Ui 3 fawaer s
e Hal.

¥, Efau™ qER SHITHN TSl 9t W SEeY R w=ar el ong, 9t Ff ‘e’
fearett .

gt 3w

(1) fum ==

(2) faum s s

(3) O faaa s

(4) =g foum TR

Consider the following statements about the ‘Preamble’ of the Indian Constitution :

a. It states the objects which the Constitution seeks to establish and promote and
also aids the legal interpretation of the Constitution where the language is
found to be ambiguous.

b. Like any other part of the Constitution, the ‘Preamble’ was not enacted by the

Constituent Assembly.

Answer options :

(1)
(2)
3)
(4)

Statement a is correct

Statement b is correct

Both the statements are correct
Both the statements are incorrect

93. wW. % fRer = FlwvrTaR Eefi| faumih Fiven faerg swda gurse vgd=
T €I =F B ?

(1)
(2)
3
(4)

YRAT =T R HEAHS qehed~9en 3fus Graicas 3.

s yEfim yrEt uae € auisgan=a gt g Sl SR,

I §9U & Seahimeter Suam qiomy 8.

ThHIeH AT g e} sweie Juu=ama & quusar) g 3 e G
[T 3R,

As observed by Prof. K.C. Wheare, which one of the following statements correctly
shows the true nature of the Indian Federal System ?

.y
(2)

(3)
(4)

The Indian Federation is more a functional than an institutional concept.

A one dominant party regime which is in conflict with the principles of
federalism.

The Indian federation is not the result of an agreement between the units.

It is a unitary state with subsidiary federal features rather than a federal state
with subsidiary unitary features.
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94. TS Frem famod o |
. M HEqT T TR G e g, S ST oy i A geftr
TE & T s S At Hw s o,

9. v facle avidia g ofgeh 3ow 3 focde od g& e 9 wfe=r=an s

el gifEs.
W‘iﬁﬁi:
(1) foum =
(2) .ﬁmqaaﬂai

(3) -t Rum
(4) A faum geh

Consider the following statements :

a. It is a joint responsibility of the Sarpanch and Upa Sarpanch to maintain
secured custody and proper safety of proceeding register and other relevant

records of the Gram Sabha.

b. The first meeting of the Gram Sabha in every financial year shall be held

within two months from the commencement of that year.

Answer options :

(1) Statement a is correct
(2) Statement b is correct
(3) Both the statements are correct

(4) Both the statements are incorrect
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95. WiEhd Fue foamwe =0 ¢
. YHIEHAET HIVATE E, T ST €9 Feared] ARETET T AfgaHe gET S
TTEA A §HE HEA I HEcel, IR, $HR AT Age T a1 T8 T asel.
q.  JEVEEEA STUed] HeE Al TRVl STl dH-gaiE saer el widen fede
ar @i, s Fvred iR gereder S a9 o9 ST aREREd
i wfge ona WEee, GUNON, HER FHET v AT 1Y 6 T HT AU ATE.

gt I :
(1) “faum o190t (2) faum =50
(3) g fqum sl (4) T fum ghEh

Consider the following statements :

a. Any resolution of Gram Panchayat shall be modified, amended, varied or
cancelled by a Panchayat after a period of three months from the date of the

passing thereof by another resolution supported by simple majority.

b. No resolution of Gram Panchayat shall be modified, amended, varied or
cancelled by a Panchayat within a period of three months from the date of the
passing thereof, except by a resolution supported by two-third of the total

number of members of such Panchayat.

Answer options :
(1) Statement a is correct (2) Statement b is correct

(3) Both the statements are correct (4) Both the statements are incorrect

96.  THIVICAT AT ~FEEI] FREh Fedtedier Frisomren 3 g ?
(1) Rt At (2) wEEE T
(3) e fafufaam (4) g fauee

The judicial control over administrative actions emanates from the Doctrine of

(1) Judicial Review (2) Rule of Law

(3) Delegated Legislation (4) Separation of Powers
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97. TQUIE =41 HeHf Y@ srerean Rrensfieea wiefiathi SRl frera & gt g
AT AT 371 ?
(1) W Tuesa Fecaliva™ A9 Heediong, HRE@ v fhar few ween
(2) T Rumaia oSg Feedn FemEmTea SUae eEe g del Wq I
(8) T TSHENT WK wholedl ARINENTEAT SUGH M o7 a™ kA e feeura
TEEE T el T, I
(4) TSTURATA ITRE — 163 ALY 7@ 9l H0IATd IaT i, ﬁmmﬁﬁﬁ%—mﬂ?
e T Tgdi aTeE YR AT,
Which of the following has been wrongly listed as a recommendation of the
‘Punchhi’ Commission with regard to the Governor ?
(1) He should have the power to sanction prosecution of a working or retired
minister without or against the advice of Council of Ministers.
(2) He may be removed by a resolution of impeachment passed by the State
Legislative Assembly.
(3) He may be removed by resolution of impeachment passed by the Rajya Sabha
and agreed to by the Lok Sabha.
(4) Article — 163 of the Constitution should be amended in a way that he may not
be able to exercise his discretionary powers in an arbitrary manner.
98, T UM TS AREH (RGSA) 1 318 ?

(1) YIEd TS GXHET U9 9914 faerd STREE] g 989 S 99T
(2) Trafva am g s e At 39w sreares 2o A

(3) TTET=N YTd&ER Hded Fefavar T

(4) T 92 e FogE WieEET o JieET

What is Rashtriya Gram Swaraj Abhiyan (RGSA) ?

(1) It is a scheme aimed to enable Panchayat RaJ institutions to prepare Gram
Panchayat Development plans

(2) Tt is a scheme for promoting regular Gram Sabha and their records
(3) 1Itis a scheme for increasing voting at village level

(4) Tt is a scheme for promoting direct election of the Sarpanch
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wrete faar femmoa =
A, dAreo WY 7 9eW USEN s 9.

4 Sieawe e S qEer=a e @ g s et o Y faiet e
T A afirdian oee s,

Fiet faumithl ey faum/A Hivd sg/a ?
(1) %Fa A

(2) w49

(3) = anfor ¢ I

(4) G TE

Consider the following statements :

a. Public Accounts Committee has seven members of the Rajya Sabha.

b. It is mentioned in the rules of day-to-day business of Lok Sabha that a member
of opposition will be the chairperson of Public Accounts Committee. ‘

Which is/are the incorrect statements from the above ?
(1) Onlya

(2) Onlyb

(3) Bothaandb

(4) None of the above

100.

WRATS S| Aleharel W0 At Fgeht sime.
(1) =gt Sas fisn

(2) —=EHdA &.TE. 3L

(3) = et Sgi

(4) gt s G @s

First Lokpal of India is

(1) Justice Dipak Misra

(2) Justice T.S. Thakur

(3) Justice Pinaki Chandra Ghose

(4) Justice Jagdish Singh Khehar
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(8) Wil fafga oo fafire wrfe +#=0 M (6 o) =, yegRe=afaiea saufa a1 3@
FPIEER F5 FH Hedd d Hid SIS IXAH Fel R, 38 THA oo § AHAR INGTRET AEAH
IR Hoem “olgme gom=n eIl Yhiey wuaeEas sfufem-82” aefie agdaer A
FOAT I¥A 9 It =aRfl AT TH TS wRErEar ST/ R t9 T g9 Wi dere fhae
T B,

(9) T TR amarT+ fafta ol 92 dueaF@ Shearer € gy Wi Wit
U IEE WEEfl R, W ufterearargt Svarge i IHEEWe siaedn IediNdEt Wh-l
HAHAHTERE T forawar wa s stravams A,

. 3. 201.

5. 201.

ST WA
el = T HvaEEd Hivft gerd: T e ?
(1w g T (2) dvateg ferermamr
(3) TSI QHAEA U4 (4) TUTBHST el
T I 9 I (3) TS TR U7 ST R, W@ d1 Y SW “3)” .
IR GrATAYH R . 201@”&83?11%“@”%3&8@&3@%&%
grafem STEvEE AR,

© ® & O

3 I TG ITYFrhd il TeiE WEET GEET IO-RATE BT FRIET SaaieaT UESen
JatRpale W W WP AR Yafud 9gs Y0 aifed FET gREEEl. grehRat
W FTEAT TS arerd araad, Ui a1 v 49 | .
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